

A. F. Izē

and

J. G. dos Reis

*Stability of Perturbed Neutral
Functional Differential Equations*

Nº 3

junho - 1977

*Stability of Perturbed Neutral
Functional Differential Equations*

by

A. F. Izē

*Instituto de Ciências Matemáticas de São Carlos
Departamento de Matemática
Universidade de São Paulo
13.560 - São Carlos - S. P.*

and

J. G. dos Reis

*Faculdade de Medicina de Ribeirão Preto
Departamento de Matemática
Universidade de São Paulo
14.100 - Ribeirão Preto - S. P.*

*This research was supported by, CNPq, FAPESP and
FINEP.*



UNIVERSIDADE DE SÃO PAULO
INSTITUTO DE CIÊNCIAS MATEMÁTICAS DE SÃO CARLOS

NOTAS DO INSTITUTO DE CIÊNCIAS MATEMÁTICAS DE SÃO CARLOS - USP

As NOTAS DO INSTITUTO DE CIÊNCIAS MATEMÁTICAS DE SÃO CARLOS - USP se constituem em um veículo de divulgação rápida de trabalhos, expondo resultados de pesquisa em ciências matemáticas e em ciências de computação e estatística, obtidos por pesquisadores do ICMSC-USP e aceitos para publicação em periódicos, atas de simpósios, colóquios, congressos, etc., considerados de bom nível científico, a critério do Corpo Editorial.

Excepcionalmente, são aceitos, para publicação, textos de conferências e notas de cursos avançados de pós-graduação, realizadas no ICMSC-USP, quando o conteúdo das mesmas, por abordar resultados inéditos e/ou relevantes, for de divulgação recomendável.

CORPO EDITORIAL:

Departamento de Matemática

Antonio Fernandes Izé

Nelson Onuchic

Gilberto Francisco Loibel

Luiz Antonio Favaro

Departamento de Ciências de
Computação e Estatística

Odelar Leite Linhares

José Ferreira de Carvalho

Cópias de publicações do ICMSC-USP:

podem ser obtidas escrevendo para:

(Copies of publications of the Instituto de Ciências Matemáticas de São Carlos - USP can be obtained by writing to:)

Bibliotecária Chefe
Instituto de Ciências Matemáticas de São Carlos
Universidade de São Paulo
Av. Dr. Carlos Botelho, 1465
Caixa Postal 668
13 560 - São Carlos, S.P.
B R A S I L

Solicitamos permuta

On demande l'échange

Exchange desired

Austausch erwünscht

INTRODUCTION

Let R^n be a real or complex n -dimensional linear vector space with norm $|\cdot|$. For $r > 0$ let $C = C([-r, 0], R^n)$ be the space of continuous function taking $[-r, 0]$ into R^n with $||\phi||$ defined by

$$||\phi|| = \sup_{-r \leq \theta \leq 0} |\phi(\theta)|.$$

Suppose t_0 is a real number and g, f are continuous functions taking $[t_0, \infty) \times C \rightarrow R^n$ and define the operators

$$D(\cdot): [t_0, \infty) \times C \rightarrow R^n$$

by

$$D(t)\phi = A(t)\phi(0) - g(t, \phi)$$

for $t \in [t_0, \infty)$, $\phi \in C$. A functional differential equation is a system of the form

$$\frac{d}{dt} D(t)x_t = f(t, x_t) \tag{1}$$

where $x_t \in C$ is defined by $x_t(\theta) = x(t + \theta)$, $-r \leq \theta \leq 0$.

For any $\phi \in C$, $\sigma \in [t_0, \infty)$ a function $x = x(\sigma, \phi)$ defined on $[\sigma - r, \sigma + A)$ is said to be a solution of (1) on $(\sigma, \sigma + A)$ with initial value ϕ at σ if x is continuous on $[\sigma - r, \sigma + A)$ and relation (1) is satisfied on $(\sigma, \sigma + A)$. We say that (1) is a neutral functional differential equation if $\det A(t) \neq 0$, $t \in [t_0, \infty)$ and for

every $\phi \in C$, $t \in [t_0, \infty)$ $g(t, \phi) = \int_{-r}^0 d\mu(t, \theta) \phi(\theta)$ where μ is a $n \times n$ matrix of bounded variation for $\theta \in [-r, 0]$ and there is a scalar function $\rho(s)$ continuous non decreasing for $s \in [0, r]$, $\rho(0) = 0$ such that

$$\left| \int_{-s}^0 [d_{\theta} \mu(t, \theta)] \phi(\theta) \right| \leq \rho(s) \sup_{-s \leq \theta \leq 0} |\phi(\theta)| \quad (2)$$

we assume that for each $(\sigma, \phi) \in (t_0, \infty) \times C$ (1) has a unique solution which depends continuously upon σ, ϕ and that every bounded solution of (1) is defined for $t \in [\sigma, \infty)$. We assume also that $f(t, 0) = 0$.

Definition: We say that the solution $x = 0$ of (1) is uniformly stable if for every $\epsilon > 0$ there exists a $\delta = \delta(\epsilon) > 0$ such that for all $\sigma \in [t_0, \infty)$, $t_0 > -\infty$, any solution $x(\sigma, \phi)$ of (1) with initial value ϕ at σ , $\|\phi\| \leq \delta$ satisfies $\|x_t(\sigma, \phi)\| \leq \epsilon$ for $t \geq \sigma$. It is uniformly asymptotically stable if it is uniformly stable and for some fixed $\delta > 0$, for any $\eta > 0$ there exists a $T = T(\eta) > 0$ such that $\|\phi\| \leq \delta$ implies $\|x_t(\sigma, \phi)\| \leq \eta$ for $t \geq \sigma + T$.

1. Lyapunov Functionals

If $V: [t_0, \infty) \times C \rightarrow \mathbb{R}$ is continuous we define

$$\dot{V}(t, \phi) = \overline{\lim}_{h \rightarrow 0^+} \frac{V[t+h, x_{t+h}(t, \phi)] - V(t, \phi)}{h}$$

Theorem 1: Let $f(t, 0) = 0$, $f(t, \phi)$ locally Lipschitzian in ϕ , uniformly with respect to t , and for all ϕ in C , $|A(t)\phi(0)| \leq k(\phi)$ for $t \geq 0$. Assume that the null solution of (1) is uniform asymptotically stable and there exists a constant L such that

$$\|x_t(t_0, \phi) - x_t(t_0, \psi)\| \leq e^{L(t-t_0)} \|\phi - \psi\| \quad (3)$$

Then there exists positive definite functions $u(r)$, $b(r)$, $c(r)$ for $0 \leq r \leq r_1$, non decreasing, $u(0) = b(0) = c(0) = 0$ and a scalar functional $V(t, \phi)$ defined and continuous for $(t, \phi) \in [t_0, \infty) \times C$, $\|\phi\| \leq r$, such that

- a) $u(\|D(t, \phi)\|) \leq V(t, \phi)$
- b) $c(\|\phi\|) \leq V(t, \phi) \leq b(\|\phi\|)$
- c) $\dot{V}(t, \phi) \leq -\omega(\|D(t, \phi)\|)$
- d) $|V(t, \phi) - V(t, \psi)| \leq k\|\phi - \psi\|$

for all $t \geq 0$, ϕ, ψ in C , $\|\phi\|, \|\psi\| \leq r_1$.

Proof: From Cruz and Hale [2], Lemma 7.1, there exists functions $\rho(u)$, $v(u)$ such that

i) $\rho(u)$ is continuous, monotone increasing for $u \geq 0$, $\rho(0) = 0$

ii) $v(u)$ continuous, monotone decreasing for $u \geq 0$, with $\lim_{u \rightarrow \infty} v(u) = 0$ such that if

$$\|\phi\| \leq r_1, \text{ and } t \geq \sigma$$

$$\|x_t(\sigma, \phi)\| \leq \rho(\|\phi\|) v(t-\sigma), t \geq \sigma \quad (4)$$

We can assume also that $v(u)$ has a continuous non negative derivative and $v(0) = 1$. From the properties of $v(u)$ there exists a function $q(u)$ defined, continuously differentiable and positive on $u \geq 0$, $q(0) = 0$, $q(u)$ strictly increasing $\lim_{u \rightarrow \infty} q(u) = \infty$ such that

$$v(u) = \exp[-\alpha(u)]$$

Suppose $q(u)$ is a bounded, continuously differentiable function on $[0, \infty)$ such that $q(0) = 0$, $q(u) > 0$, $q'(u) < \alpha'(u)$ for $u > 0$, q' monotone decreasing. Let $\beta > \lambda(k) + k$ where $|A(t)\phi(0)| \leq k$ and define

$$V(t, \phi) = \sup_{u \geq 0} \|x_{t+u}(t, \phi)\| e^{q(u)} \quad (5)$$

Since D satisfies (2), $\frac{1}{\beta} \|D(t, \phi)\| =$
 $= u(\|D(t, \phi)\|) \leq V(t, \phi)$ and a) is satisfied. b), c) and d) follows step by step the argument given in [1] with the only change being that $V(t, \phi)$ is defined by (5).

Theorem 1 is an alternative for Theorem 7.1 of Cruz and Hale [2] which uses the hypotheses:

$$a') \|D(t, \phi)\| \leq V(t, \phi) \leq b(\|\phi\|)$$

$$b') \dot{V}(t, \phi) \leq -C(||D(t, \phi)||)$$

$$c') |V(t, \phi) - V(t, \psi)| \leq K||\phi - \psi||$$

where $V(t, \phi) = \sup_{s \geq 0} ||D(t+s, x_{t+s}(t, \phi))|| e^{as}$.

The principal advantage of this definition of $V(t, \phi)$ is condition c') which is very useful in the study of perturbed systems. By the other hand $||\phi|| \geq 0$ does not implies necessarily that $V(t, \phi) \geq a(||\phi||)$ for some positive increasing function a with $a(0) = 0$, what is quite often needed in the applications. With the definition of $V(t, \phi)$ given in Theorem 1 above this condition is satisfied.

However, the Condition (3), that holds in general for linear systems, is not easy to verify for general non linear system and it is an open question to know if it is true for system (1) with f Lipchitzian.

2. Stability of Perturbed Linear System

Consider the system

$$\frac{d}{dt} D(t, y_t) = f(t, y_t) \quad (6)$$

where $D(t, \phi)$ and $f(t, \phi)$ are bounded linear continuous functionals and D is a uniformly stable operator. Consider now the perturbed system.

$$\frac{d}{dt} \bar{D}(t, x_t) = \bar{F}(t, x_t) \quad (7)$$

System (7) can be transformed into the system

$$\frac{d}{dt} D(t, x_t) = f(t, x_t) + h(t, x_t) \quad (8)$$

where only the f function is perturbed and

$$h(t, x_t) = \bar{f}(t, x_t) - f(t, x_t) - \frac{d}{dt} [\bar{D}(t, x_t) - D(t, x_t)]$$

To study the stability properties of system (8) we will need the following.

Lemma 1: Let $x_t(t_0, \phi)$ be a solution of (8) and $y_t(t_0, \phi)$ a solution of (6), then there exists a constant L such that

$$\begin{aligned} & \|x_t(t_0, \phi) - y_t(t_0, \phi)\| \leq \\ & \leq [e^{L(t-t_0)} - 1] |h(t, x_t)|, \quad t \geq t_0 \end{aligned} \quad (9)$$

It is obvious that (9) is satisfied for $t = t_0$. Suppose it is not true for every $t \geq t_0$. Let t_1 be the supremum of the t 's for which inequality (9) is satisfied. From the continuity of both sides of (9) there exists a sequence $\{t_n\}$, $t_n \rightarrow 0$ for $n \rightarrow \infty$, t_n small enough such that

$$\begin{aligned} & \|x_{t_1+t_n}(t_0, \phi) - y_{t_1+t_n}(t_0, \phi)\| > \\ & > [e^{L(t_1+t_n-t_0)} - 1] |h(t, x_t)| \end{aligned}$$

From Hale [3], p. 354, there is a h_0 small enough such that if $0 \leq t_n \leq h_0$

$$\begin{aligned} & \|x_{t_1+t_n}(t_0, \phi) - y_{t_1+t_n}(t_0, \phi)\| \leq \\ & \leq \frac{1}{1-\rho(h_0)} \int_{t_1}^{t_1+t_n} |h(s, x_s)| ds \end{aligned}$$

Thus

$$\frac{1}{1-\rho(h_0)} \int_{t_1}^{t_1+t_n} |h(s, x_s)| ds >$$

$$> |(e^{L(t_1+t_n-t_0)} - 1) h(t_1+t_n, x_{t_1+t_n})|$$

Hence

$$\frac{t_n}{1-\rho(h_0)} \sup_{t_1 \leq s \leq t_1+t_n} |h(s, x_s)| \geq$$

$$\geq (e^{L(t_1+t_n-t_0)} - 1) |h(t_1+t_n, x_{t_1+t_n})|$$

and

$$\overline{\lim}_{t_n \rightarrow 0_+} \frac{1}{1-\rho(h_0)} \sup_{t_1 \leq s \leq t_1+t_n} |h(s, x_s)| >$$

$$> \overline{\lim}_{t_n \rightarrow 0_+} \frac{(e^{L(t_1+t_n-t_0)} - 1)}{t_n} |h(t_1+t_n, x_{t_1+t_n})|$$

Then

$$\frac{1}{1-\rho(h_0)} |h(t_1, x_{t_1})| \geq L e^{L(t_1-t_0)} |h(t_1, x_{t_1})|$$

and if we take $L > \frac{1}{1-\rho(h_0)}$ we have a contradiction.

Theorem 2: If the solution $y \equiv 0$ of (6) is uniformly asymptotically stable there exists a scalar functional $V(t, \phi)$ defined and continuous for $(t, \phi) \in [t_0, \infty) \times C$ such that

- a) $|D(t, \phi)|^2 \leq V(t, \phi)$
 b) $||\phi||^2 \leq V(t, \phi) \leq k_1 ||\phi||^2$
 c) $|V(t, \phi_1) - V(t, \phi_2)| \leq k_2 (||\phi_1 + \phi_2||) ||\phi_1 - \phi_2||$
 d) $\dot{V}(t, \phi) \leq - ||y_t(t_0, \phi)||^2$

Proof:

Let $\beta = \max\{(k + \rho(r))^2, 1\}$ and define

$$V(t, \phi) = \beta \left[\int_0^\infty ||y_{t+s}(t, \phi)||^2 ds + \sup_{s \geq 0} ||y_{t+s}(t, \phi)||^2 \right]$$

From the uniform asymptotic stability of the solution $y \equiv 0$, [3], there are constants α and k_0 such that $||y_t(t_0, \phi)|| \leq k_0 e^{-\alpha(t-t_0)} ||\phi||$. It is obvious that $V(t, \phi) \geq ||\phi||^2$ and $V(t, \phi) \geq |D(t, \phi)|^2$, since

$$|D(t, \phi)|^2 \leq k^2 ||\phi||^2 + \rho^2(r) ||\phi||^2 \leq \beta ||\phi||^2 \leq V(t, \phi).$$

Let $\sigma \geq 0$, then $||y_{t+s}(t, \phi)|| \leq K_0 e^{\alpha\sigma} e^{-\alpha s} ||\phi||$. Hence $V(t, \phi) = \beta k_0 e^{2\alpha\sigma} ||\phi||^2 \int_0^\infty e^{-2\alpha u} du + \beta K_0 e^{2\alpha\sigma} ||\phi||^2 = \beta (1 + \frac{1}{2\alpha}) k_0 e^{2\alpha\sigma} ||\phi||^2 = k_1 ||\phi||^2$ and b) is proved.

$$\begin{aligned} \frac{1}{\beta} |V(t, \phi_1) - V(t, \phi_2)| &\leq \left| \int_0^\infty ||y_{t+s}(t, \phi_1)||^2 ds - \int_0^\infty ||y_{t+s}(t, \phi_2)||^2 ds \right| + \left| \sup_{s \geq 0} ||y_{t+s}(t, \phi_1)||^2 - \sup_{s \geq 0} ||y_{t+s}(t, \phi_2)||^2 \right| \\ &\leq \int_0^\infty \left| [||y_{t+s}(t, \phi_1)||^2 - ||y_{t+s}(t, \phi_2)||^2] ds + \sup_{s \geq 0} [||y_{t+s}(t, \phi_1)||^2 - ||y_{t+s}(t, \phi_2)||^2] \right| \end{aligned}$$

$$\begin{aligned}
& - ||y_{t+s}(t, \phi_2)||^2] \leq \int_0^\infty (||y_{t+s}(t, \phi_1)|| + ||y_{t+s}(t, \phi_2)||) \cdot \\
& \cdot (||y_{t+s}(t, \phi_1)|| - ||y_{t+s}(t, \phi_2)||) ds + \sup_{s \geq 0} (||y_{t+s}(t, \phi_1)|| + \\
& + ||y_{t+s}(t, \phi_2)||) \cdot \sup_{s \geq 0} (||y_{t+s}(t, \phi_1)|| - ||y_{t+s}(t, \phi_2)||) \leq \\
& \leq \int_0^\infty k_0 e^{\alpha s} e^{-\alpha s} (||\phi_1|| + ||\phi_2||) k_0 e^{\alpha s} e^{-\alpha s} (||\phi_1 - \phi_2||) ds + \\
& + k_0 e^{\alpha s} (||\phi_1|| + ||\phi_2||) k_0 e^{\alpha s} e^{-\alpha s} (||\phi_1|| - ||\phi_2||) \leq \\
& \leq k_0^2 e^{2\alpha s} (||\phi_1|| + ||\phi_2||) (||\phi_1 - \phi_2||) (1 - \frac{1}{2\alpha})
\end{aligned}$$

Hence

$$\begin{aligned}
& |V(t, \phi_1) - V(t, \phi_2)| \leq \\
& \leq \beta k_0^2 e^{2\alpha s} (||\phi_1|| + ||\phi_2||) (||\phi_1|| - ||\phi_2||) (1 - \frac{1}{2\alpha})
\end{aligned}$$

and c) is proved.

To prove d) since

$$\begin{aligned}
V(t, y_t(t_0, \phi)) &= \int_0^\infty ||y_{t+s}(t, y_t(t_0, \phi))||^2 ds + \\
& + \sup_{s \geq 0} ||y_{t+s}(t, y_t(t_0, \phi))||^2 = \int_0^\infty ||y_{t+s}(t_0, \phi)||^2 ds + \\
& + \sup_{s \geq 0} ||y_{t+s}(t_0, \phi)|| = \int_t^\infty ||y_s(t_0, \phi)||^2 ds + \sup_{s \geq 0} ||y_{t+s}(t_0, \phi)||^2
\end{aligned}$$

and $||y_{t+s}(t_0, \phi)||^2$ is a decreasing function it follows that

$$\begin{aligned}
\dot{V}(t, y_t) &\leq \lim_{h \rightarrow 0+} h^{-1} [\int_{t+h}^\infty ||y_s(t_0, \phi)||^2 ds - \\
& - \int_t^\infty ||y_s(t_0, \phi)||^2 ds] = \frac{d}{dt} \int_t^\infty ||y_s(t_0, \phi)||^2 ds = -||y_t(t_0, \phi)||^2
\end{aligned}$$

and the theorem is proved.

Theorem 3: Assume that

$$||D(t, \phi) - \bar{D}(t, \phi)|| + ||\bar{f}(t, \phi) - f(t, \phi)|| \leq \gamma ||\phi|| \quad (10)$$

where γ is chosen small enough in such a way that

$\gamma\phi \in C_H$. Then if the solution $y \equiv 0$ of (6) is uniformly asymptotically stable, the solution $x \equiv 0$ of (7) is uniformly asymptotically stable.

Proof: The solutions of (7) are the solutions of

$$\frac{d}{dt} D(t, x_t) = f(t, x_t) + h(t, x_t)$$

and from (10) $|h(t, \phi)| \leq \gamma ||\phi||$.

Let $x_t(t_0, \phi)$ be a solution of (7) for $||\phi||$ small enough and $V(t, \phi)$ as in theorem 2, Define $V^*(t) = V(t, x_t(t_0, \phi))$. From a) and d) of Theorem 2 we have

$$\begin{aligned} & \overline{\lim}_{h \rightarrow 0^+} \frac{V^*(t+h) - V^*(t)}{h} \leq \\ & \overline{\lim}_{h \rightarrow 0^+} \frac{V(t+h, y_{t+h}(t, x_t(t_0, \phi))) - V(t, x_t(t_0, \phi))}{h} + \\ & + \overline{\lim}_{h \rightarrow 0^+} \frac{V(t+h, x_{t+h}(t, x_t(t_0, \phi))) - V(t+h, y_{t+h}(t, x_t(t_0, \phi)))}{h} \end{aligned}$$

where $x_t(t_0, \phi)$ is a solution of (7), then.

$$\begin{aligned} & \overline{\lim}_{h \rightarrow 0^+} \frac{V^*(t+h) - V^*(t)}{h} \leq -||y_t(t_0, \phi)||^2 + \\ & + \overline{\lim}_{h \rightarrow 0^+} \frac{(V(t+h, x_{t+h}(t, x_t(t_0, \phi)))) - V(t+h, y_{t+h}(t, x_t(t_0, \phi)))}{h} \end{aligned}$$

From part c) of theorem 2 we have

$$\begin{aligned}
& |V(t+h, x_{t+h}(t, x_t(t_0, \phi))) - V(t+h, y_{t+h}(t, x_t(t_0, \phi)))| \leq \\
& \leq k(|x_{t+h}(t, x_t(t_0, \phi)) + y_{t+h}(t, x_t(t_0, \phi))|) \cdot \\
& \cdot (|x_{t+h}(t, x_t(t_0, \phi)) - y_{t+h}(t, x_t(t_0, \phi))|).
\end{aligned}$$

We know that

$$|y_{t+h}(t, x_t(t_0, \phi))| \leq k_0 |x_t(t_0, \phi)|.$$

From Lemma above and condition (10) we have

$$\begin{aligned}
& |x_{t+h}(t, x_t(t_0, \phi)) - y_{t+h}(t, x_t(t_0, \phi))| \leq \\
& \leq (e^{Lh} - 1) |g(t, x_t)| \leq (e^{Lh} - 1) \gamma |x_t(t_0, \phi)| \quad \text{and then} \\
& |x_{t+h}(t, x_t(t_0, \phi))| \leq (e^{Lh} - 1) |g(t, x_t)| + k_0 |x_t(t_0, \phi)|.
\end{aligned}$$

Hence

$$\begin{aligned}
& |V(t+h, x_{t+h}(t, x_t(t_0, \phi))) - V(t+h, y_{t+h}(t, x_t(t_0, \phi)))| \leq \\
& \leq (K\gamma(e^{Lh} - 1) |x_t(t_0, \phi)| + \\
& + 2k_0 |x_t(t_0, \phi)|) (e^{Lh} - 1) \gamma |x_t(t_0, \phi)| = \\
& = |x_t(t_0, \phi)|^2 (K(e^{Lh} - 1) \gamma + 2k_0) (e^{Lh} - 1) \gamma = \\
& = |x_t(t_0, \phi)|^2 (K(e^{Lh} - 1) (e^{Lh} - 1) \gamma^2 + 2k_0 (e^{Lh} - 1) \gamma).
\end{aligned}$$

Hence

$$\begin{aligned}
& \overline{\lim}_{h \rightarrow 0_+} h^{-1} |V(t+h, x_{t+h}(t, x_t(t_0, \phi))) - V(t+h, y_{t+h}(t, x_t(t_0, \phi)))| \leq \\
& \leq |x_t(t_0, \phi)|^2 \overline{\lim}_{h \rightarrow 0_+} h^{-1} [k(e^{Lh} - 1) (e^{Lh} - 1) \gamma^2 + 2kk_0 (e^{Lh} - 1) \gamma] = \\
& = 2kK_0 L \gamma |x_t(t_0, \phi)|^2. \quad \text{Thus if we take } \gamma < \frac{1}{2kk_0 L}
\end{aligned}$$

$$\begin{aligned} \overline{\lim}_{h \rightarrow 0_+} \frac{V^*(t+h) - V^*(t)}{h} &\leq - \|x_t(t_0, \phi)\|^2 + 2kk_0L\gamma \|x_t(t_0, \phi)\| = \\ &= \|x_t(t_0, \phi)\|^2 (2kk_0L\gamma - 1) = -\gamma_1 \|x_t(t_0, \phi)\|, \quad \gamma_1 > 0. \end{aligned}$$

Then system (7) is uniformly asymptotically stable.

Another simple proof that implies in particular that the solutions of (7) are exponentially stable is the following. From conditions b) and d) of Theorem 2,

$$\overline{\lim} \frac{V^*(t+h) - V^*(t)}{h} \leq -\gamma_1 V^*(t), \quad \gamma_1 = \frac{1}{K_1}$$

$$\frac{1}{V^*(t)} \overline{\lim} \frac{V^*(t+h) - V^*(t)}{h} \leq -\gamma_1$$

or

$$\overline{\lim}_{h \rightarrow 0_+} \frac{\log V^*(t+h) - \log V^*(t)}{h} \leq -\gamma_1$$

$$\log V^*(t) - \log V^*(t_0) \leq -\gamma_1 (t - t_0)$$

or

$$\|x_t(t_0, \phi)\|^2 \leq V^*(t) \leq V^*(t_0) K e^{-\gamma_1 (t-t_0)} \leq K e^{-\gamma_1 (t-t_0)} \|\phi\|^2$$

and the theorem is proved.

Theorem 4: Assume that

$$\|\bar{F}(t, \phi) - f(t, \phi)\| + \|\bar{D}(t, \phi) - D(t, \phi)\| \leq g(t) \|\phi\|, \quad \int g(t) dt < \infty \quad (11)$$

Then if the solution $y \equiv 0$ of (6) is uniform asymptotically stable the solution $x = 0$ of (7) is uniform asymptotically stable.

Proof: As in Theorem 4 we have from inequality (9)

$$\begin{aligned} & \|x_{t+h}(t, x_t(t_0, \phi)) - y_{t+h}(t, x_t(t_0, \phi))\| \leq \\ & \leq (e^{Lh} - 1) \|h(t, x_t)\| \leq (e^{Lh} - 1) g(t) \|x_t(t_0, \phi)\| \end{aligned}$$

and

$$\begin{aligned} & \|y_{t+h}(t, x_t(t_0, \phi))\| \leq k_0 \|x_t(t_0, \phi)\| \quad \text{and therefore} \\ & \|x_{t+h}(t, x_t(t_0, \phi))\| \leq (e^{Lh} - 1) g(t) \|x_t(t_0, \phi)\| + \\ & + k_0 \|x_t(t_0, \phi)\| \end{aligned}$$

Thus we have

$$\begin{aligned} & |V(t+h, x_{t+h}(t, x_t(t_0, \phi)) - V(t+h, y_{t+h}(t, x_t(t_0, \phi)))| \leq \\ & \leq (k(e^{Lh} - 1) g(t) \|x_t(t_0, \phi)\| + \\ & + 2k_0 \|x_t(t_0, \phi)\|) (e^{Lh} - 1) g(t) \|x_t(t_0, \phi)\| = \\ & = \|x_t(t_0, \phi)\|^2 (K(e^{Lh} - 1) (e^{Lh} - 1) g^2(t) + 2K_0 K (e^{Lh} - 1) g(t)) \end{aligned}$$

Hence

$$\begin{aligned} & \overline{\lim}_{h \rightarrow 0_+} h^{-1} [|V(t+h, x_{t+h}(t, x_t(t_0, \phi)) - V(t+h, y_{t+h}(t, x_t(t_0, \phi)))|] \leq \\ & \leq k_1 g(t) \|x_t(t_0, \phi)\|^2. \end{aligned}$$

Therefore

$$\begin{aligned} & \overline{\lim}_{h \rightarrow 0_+} \frac{V^*(t+h) - V^*(t)}{h} \leq - \|x_t(t_0, \phi)\|^2 + \|x_t(t_0, \phi)\|^2 k_1 g(t) = \\ & = (k_1 g(t) - 1) \|x_t(t_0, \phi)\|^2 \leq (k_1 g(t) - 1) V^*(t). \end{aligned}$$

Thus we have

$$\|x_t(t_0, \phi)\| \leq V^*(t) \leq$$

$$\leq V^*(t_0) \exp\left[k_1 \int_{t_0}^{\infty} g(s) ds\right] \exp(-(t-t_0)) \leq \\ \leq K \exp - (t-t_0) \|\phi\|.$$

what implies that the solution $x \equiv 0$ of (7) is exponentially stable and therefore uniform asymptotically stable.

REFERENCES

1. Cruz M.A. and Hale J.K. - Stability of Functional Differential Equations of Neutral Type. Journal of Differential Equations; Vol. 7, nº 2 (1970), 334-355.
2. Hale J.K. - Ordinary Differential Equations. Wiley Interscience, New York, (1969).
3. Hale J.K. and Cruz M.A. - Asymptotic Behavior of Neutral Functional Differential Equations. Arch. Rational Mech. Anal., 34, 331-353, (1969).